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Question I Choose thdcorrect answer (40 points)

1. Civen a private key {I,2,4, 1A,2A,40}, m:31, n:I10 which of the fbllowing is the cipher
message con'esponding to the plain massage 36

a) l2l
lr) ll
c) 111

d) l6

2. InRSA cryptosystem, a participant A uses fwo prirne numbsrs p:I3 and q:17 .lf the public key of
A is 35, then the private key of A is:

a) l1
b)z
c) l5
d) 13

3. For the following RC4 algorithm, Iine vii is:

i. fori=Oto255
ii. S[i] = i

iii. Tlil = key[i (mod N)J

iv, next i

v' j=o
vi. fori=Oto255

vii" -*----
viii. swap(S[i], S[j])
ix. next i

x. i= j=O
xi. i= (i + 1) mod 256

xil. -*-----
xiii. swap(SIi], SUI)

xiv. -------
xv. keystreamByte = S[t]

a) j :0 + s[i] + T[i]) mod 256

b) i = (i + SLil + T[i]) mod 256

c) j:0+Tlil)mad256
d) j = (S[i] + Tlil) mod 256

4. For the previous RC4 algorithm, line xri rs:

a) j : (Stil) mod 256

b)j:U+SLil)mod256
c) j: (i+ S[ij) mod 2s6
d) j: U + S[i]) mod 256
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5. F'or tlre previous RC4 algorithm, line xiv is
a) f : S[i] rnod 256

b) 1: (S[i] + S[]) mod 256

c) 1: (S[i] + Tfil) mod 256
d) t: (Sli+jl) mod 256

6. In DES, each of the S-boxes matrix is with size -------
a) 4x4
b)4x16
c) 8x8
d) 4x8

7. Users A and B use the Diffie-Hellman key exchange technique with a
generator a:3. If user A has private key XA:2, If user B has private
shared secret key?

a)3
b)4
c)5
d)6

8" A set of numbers is called super increasing knapsack if:
a) each element is greater than previous element
b) each element is greatet than sum of all the previous elenrents

c) each element is greater than the average of all elernents
d) each element is lesser than the srun of all the elements

9. A Brute Force attack on a Simple substitution cipher written in Arabic would require a nraximunr

of -----------trials.
a) 25! "

b) 26!

C) 2BB

d) 28!

l0.Suppose tlrat an Affine cipher is used to enciphers h as X and q as Y. Find the key.

a) (5,10)
b) (23,7)
c) (9,12)
d) (3,2)

I l.The number of tests required to break the DES algorithm are

a) 2.8x l0ra

b) 4.2x l0e

c) 1,84x 1018

d) 7.2x 1016

l2.Using one time pad, the key that encrypts APPLE modulo 26 to yield ciphertext QJKES is:

a) QGFHW
b) KGFHM
c) OGTNI
d) QUVrO

common prime q: 7 and
key XB : 5. What is the



.What will be the cipher text
Cipher is used with matrix
columns from (1 ;2,3,4) -

a) ROFIITKCAATAT
b) UORTAKTCTTAK
c) FOURCKATATTA
d) TIUoRTAKCATTA

coffesponding to plain text "attack at four" if Double Transposition

of size 3 x 4, permute rows fronr (1, 2,3) * (3, 2, l), pennute
(4,2, 1,3)

is used

l4.What will be the plain text if rail fence cipher is used for decrypting the cipher text
"SANFOII].IDRY" with the key value given to be 3?

a) SFROAUYNND
b) SUANNDFROY
c) SORAI.UDYNN
d) SNoNRAFUDY

lS.Which of the following ciphered text would have NOT used transposition cipher fbr encryption of
the plain text "CIPi{ER"?

a) EPIHRC
b) EHTPCR
c) TIPDRC
d) HRTPEC

l6.Which of tlie following is not a characteristic of a good haslr function'l
a) Collision resistance
b) Takes a variable-sized rnessage as input and produces a fixed-length output
c) Reversibitrity
d) Deterministic

17.[n public-key cryptography, sender can enclypt thc message

a) using only receiver's public key
b) using only sender's private key
c) r"rsing only sender's pr-rblic key
d) using oniy receiver's private key

18.In RC4 , variable-length key of size
a) I to 256 bits
b) 8 to 1024bits
c) I to 256 bytes
d) 64 to 128 bits

l9.What will be the plain text corresponding to cipher text "BPKLFQ" if playfuir cipher is usecl with
keyword as "SECRET"

a) INDIAN
b) woRLI)
c) DOIKRL
d) ODI-MLY
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20.Apply the Vigenere Tableau Cipher to decrypt the Ciphertext: "ZIC)" using the Key "dec"

a) EWA
b) cME
c) WEA
d) FGE

(10 points)

2l.Symmetric key Cryptography is advantageous over Public key Cryptography because of Speed,
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Question 2 True or False

22.Stream Cipher is inspired by irill cipher
23.In DES, the output of each s-box is 6 bits.
24.In Hill Cipher, if the keyword is "short example" antl the size of ihe key matrix is 3 x 3 , we

would only take the first 9 letters of the keyword and ignore the rernaining letters.

25.In Feistel cipher, decryption uses the same algorithm as encryption with the same order of the

subkeys.

26,1n A5/l cipher, the key is used as the initial fill of two registers

27.You are slipposed to use hill cipher tbr encryption technique. You are provided with tlre follor,ving

*ut i*,A = ll ?]. ,n- given matrix'A', is a valic! key to be used for encryption.

28.The ntunber of columns in the table used for encryption in columnar transposition cipher when a

given keyword is "SECRET" and plain text is "SANFOUNDRY" is 2

29.\n RSA, rve select a value 'e' that lies between I and euler (O) and it is relatively prime to O.

30.Triple DES with Kl and K2 are independents, and K3 : KI is stronger than Double DES.

4
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The questions are in FouR pages, 50 questions only are required.
choose the best answer: (1 mark for each point)
l. The daily life probrems are introduced to computer as:
a) inputs b) outputs c) commancls ct) rules
2. The .. . . .. is halfway between plain English and the programming language.
a) algorithm b) flowchart c) pseudocode d) subroutine
3. The ...... needs a specific language to build in.
a) code b) argorithm c) pseudocode d) fleiwchart
4' The . ... ' . is a graphicar method shows the information flow.
a) diagram b) streamlines c) flowmap d) flowchart
5' The " " " manages the relation between memory and the arithmetic & Iogic unit.
a) mainfiame b) keyboard c) control unit d) remote sensor
6. The expression "CON<I AND CON>k" is analyzed by:
a) centrifuge b) carculator c) rogic unit d) injector
7' To describe your problem well, all possible states and values should be stored at:
a) memory b) board c) CD d) book
8- The place where the M-fire is running is known from . .. paner.
a) command history b) command window c) current folder d) workspace
9. To call a function in Matlab you need:
a) its name and arguments b) its outputs c) its inputs d) the toor box
10. Workspace is the place where you can:
a) see vour variables b) see outputs c) supply inputs d) discover errors
t 1. Type ...... to display the current workspace variables.
a) load b) who c) clc d) find
12. Command used to display the value of variable x:
a) disp x b) display x c) disp(x) d) vardisp(x)
tr3. To stop the execution of a MATLAB command, the used keys are:
a) ctrl+e b) ctrl+s c) ctri+b ci) ctrl+c

1. 1,
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14. Which is the invalid variable name in MATLAB?

a) x4 ' b)xX c) 7x

15. Expect the result of: a:[1 1 0 0], b=a',c:a*b?

a)[1100]' b)100001 c)0 
:

16. All MATLAB computations are done in:

a) single precision b) double precision c) linear accuracy

17. Which symbol is used to initialise a variable?

a) :> b) : c) =: d) init

18. . . ... is used to keep the workspace variables at W'mat file'

a) keep (Sr.mat) b) whos (W.mat) c) save (Wmat) d) what (W mat)

19. To load all variables from Y.mat file, you will use the command:

a) open ('Y.mat') b) import ('Y.mat') c) save ('Y'mat')

20. (CLEARALL) is a command used to eiiminate:

a) workspace variables b) script commands c) all errors

21. plot(Y(s:60)); the data on the horizontal axis are:

a) A1,2,... b) y(5))y(60) c) 5,6,...,60 d) 5,60,115'':'

22.The command "close all" means:

a) close all figurcs b) close all panels c) close all files

23. The command "clf' means:

a) clear figure b) see figure c) stop running d) activate a Panel

24.Whatis the output of the expression in Matlab: (2*9*Inf)+(9-1*Inf)?

a) Inf b) Nan c) 0 d) effor

25.Evaluate the erpression: a:5*91 b:a*a/a*a: c=sind(3 0)+ll2;d:1-c; e:a*b'*c-d

c) 2A25 d)2070

d),x*x

d)2

d) none of them

d) multi-le'vel care

d) load ('Y.nrat')

d) new uPdate's

d) close Matlab

a)0

a)0
26.Whatis the gutput of the following code: a=(1og(0) = = Infl?

d) Nan

b) 4s

b)l c) Inf

27.The argument "ans" is alan:

a) absolute function b) default variable 
,c) gonstant value d) unknown

28. The value 'eps'has the reserved value:

a)2.2204e-r6 b) 3.141s929 c) zero

29 . zeros(l,m)*zeros(n, I ) equal :

d) non of thern

2l'

a) zeroscalar b) mxn zero matiix c) mxn identity matrix



30. Evaluate the result of a:55; b:5485.45; fprintf('%d'/ad', a, b);

I

d) 555.485450e+03c) 555485.45b) 5s s485.4sa) 55 5485

31. ones(3 ,2)*zeros(2,3) gives:

a) zeros(3,3) b) ones(3,3) c) zera

32. ones(3,l)*rand(l,3) may contain the entry:

a) 1.258 b) t26.453 c) 9.999

33. Given a:[9 1 0;3 6 2;5 4 7), a(3,2:3) displays:

a)ls 471

a) [x,y]

a) 3x6

b) t2 7l' c)v7)

d) zeros(2,3)

d) 30000

d) [o 2 7]'

d)'(A,c)'

d) range

d) 6*eye(3)

34. What's the wrong at the line: function x:x*test(A,b)?

a)'x+' b)'function' c) 'test'

35. What's the wrong at the line: function [x,y]:range(n2-nl)?

36. diag([6 6 6l) equal:

b) 6*ones(3,3) c) 6*6*6

37. x:-1:0.2:0 is equivalent to:

a) x:linspace(-1,0,6) b) x:linspace(-1,0.2,0) c) forx:-1:0:0.2 d) none of them

38. Evaluate the result of: i=1 ; j--26.5845; forintf('%d%8.3f ,i, j)

a) 1 26.585 b) 1 26.58400 c) 10026.585 d) I 0026'58s

3g. Let:A:3, B:30. In code, 6:[+Bi B:C-B; A:C-B; therefore, after processing:

a) A:3, B:0 b) A:0, B:33 c) A:30, B:3 d) A:27,8:3

^.lo ic fn finrl the qeries: 1-X+X2-X3+... :

a)N b)x c)I d) term

41. At cocte (question 40), what's the value of (Q 41) position

b) function c) n2-n1

b)0 c)N

b)0

a) -1

42. Atcode (question 40), what's the logic expression at Q 42 position ?

a) -1 c)N d)l

d):,
43. At code (question 40), (Q 43) points to:

d)l

40. The following code is to find the series: tr-X+X2-X3+

What would you type at (Q 40) position?

6) sum: (Q.4.4.I

7) I: I+1;

8) End

3) I:l ; sum:(.Q.4.l).; tenn: LQ.*!.;

4) While (I Q.4"3- N)

5) terrn: -1*term*X;

1) Syms (Q.4.Q).;

2) N=input('Enter the

highest power:#n');

a)< b), c) <:

3l



44. Atcode (question 40)' (Q 44) points to:

a) sum+N b) sum+l c) sum+I d) sum+term

45. At code (question 40), in case of N:4, subs(sum' -l) gives:

a) -1 b)1 c)4 d)s

c) N not-a-number d) N<2
46. X: (mod(N,2) - = 0)i if X=1, this means:

a) N is odd b) N is even

47. Atloop: for l:zeros(3,7) , the number of iterations is

a)7 b)3 c) zero d) 2r

4g. Evaluate the result of: a:10; b:0.2645;fpintf('Yae%d" b, a)1

c) 2.645e+01 l_9 d) 10 0.264s
a)0.2345e+0010 l@
ig. lts:'how-otrd-are-you' ; the s(l 1) is

a) 'o' b) 'a' c) o-' d) 'e'

50. Inside for loop, the following IF condition exists: b:'l; s:'ftxhfinkoxutx';

if(s(i)-:1lls(i)-:x){b:[bs(i)];end]couldyouidentifvb?
a)'thinkout' b)'thfinox c)'thinxtxr d)'""'-"'

,$*:r*{<*ts,t({.*:l.*'F With best wishes, Dr Mohammed Ahme-d Yousof 'lr*d('l'*'Fd'****'1"'
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1. The .....................cannot be used in'identifiers.

a) Letters. b) Underscore. c) SPaces.

2. The.........,...........is used to print a backslash character'

a) \\ b\il c) \t
3. The single-line comment can be added using."""

a) \\ c) ll

a)8 b)4 c)2

c) 13

b) l" nl

d) Di14itsr.

d) None of these.

d) None of these.

d) num
4. Wfti.t1 of the foliowing is NOT a reserYed word in C++?

a) ieturn b) int c) const

5. Which of the following loops will definitely execute at ieast once even if the corrdition i:;

not satisfied?

a) for b) do-while c) while d) None of these.

6. The memory sPace taken for a double type data is""' bytes'

d) None of th,rese.

The.............."......manipu1ator is used to control the output of floa{:ing-point numbe'rs to a

a) showpoint b) setprecision c) fixec{ c{) scientific

V\ihich of the following expressions correctly determines that :x is greater than 10 and

Iess than 20?

a) 10 <x<24 b)*>10&&x<20c)x>10llx<20d)Noneoft'Irese.

g. Which of the following statements can be used to call the function

void Sample(int a, int b = 0, int c = 0) t )

a) Sampie(30,40); b) Sample(L0,20,30); c) Sample(S0); d) Ail of these'

10. Expression static_cast<int>(7.g + sta"tic-castcdoubLe>(L5/2)) evaluates to''"""

a) 1.4 b) 15 ci) None of these.



Question 2:, Choose the

LL. What is the output of the following code fragment?

double a = 2.5;
intb=3;
b = a;

a) 2 b) 2.5

12. What is the output of the following code fragment?

intx=1rY=2;

a) -1 b)z

13. What is the ouQut of the following program?

int .main( )
t

t \:\

c)3

c)1

:x-1);
= " << x (( gndl;

c)1

d) None of these.

d) None o.f these-

Page | 2

d) Error.

d) 11

intyrx=5;
y=($AA%x==A)?x+1

retunn 0;
)

a) y= 6,x=6 b) y= 6,x=5 c) y = 4,x=5

L4. V\rhat is the outPut of the follow,ing code fragment?

int x[+]={10,9};
for(inii=0; i<4t i++)

b) 10 9 gatbage garbage c) Error' d) None of these.

15. What is the output of the following code fragment?

boolx=(10>3);

a) 10 b) true d) Erro"r.

16. What is the output of the follou'ing program?

t
constintx=1;
x+=5;

return O1

)
a)1

a)10900

b)6 c) Error.



l.T.Whatistheoutputofthefollowingprogram?

int maino
{

int i = LAi
if (i = 72)

cout << "I
else

return 0;
I

a) It will Printing nothing'

18. What is the output of the following program?

intx=70rY=a;
void mFunctiono
{- y= (x>0)?x++:x--;
)

b) I am in True c) Iaminfalse d) Error'

am in True";

am in false";

int maino
{

mFunction ( ) ;
cout << x <<

return 0;

)

c) L1 10

(< y;

d) Error.
a)100

a)1

b) t0 10

19. What is the output of the following program?

int maino
{

int L=A;
for (;; )

cout << ++i <( " ";
return 0;

)
b) Infinte looP. c) Error.

20. What is the output of the following program?

void mFunction(int& a' int& b' int& c)

- ,*- ?'ct - 1t

b*=2;
^ *- -r.
| - It

)
int maino
{

intx=2rY
mFunction ( x,
cout <( tr1 

=rr

return 0;

= 5t z =

Y, z);
7;

tt
t

d) None of these'

d) None of these'
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)
a)

y="<<Y<<

x=Z,y =5, z=7 b) x =3, Y =6, z=5 c) x=4,Y =10, z=14



2l.Whatistheoutputofthefollowingprogram?

int main o
t

int n = LOi
do

t
n/=2;
cout <<'n * P 4( " ";

) while (n != o) i
return 01

)
a) 25 b) 25 41,0

22.Whatistheoutputofthefollowingprogram?

int maino
t

inti=1ri=!;
while(true)
{

if (i > 3)
break;

else
j+=i;

cout << j << " ";
i += ji

)
return 0;

)
a\23

23. How many times "lHi" is get Printed?

int maino
{

'for(int x=0; X(=5 ; x++)

t
if(x<3)

continue;
else

break;

)
return 0;

b)2 5

c) 25 41

c) Error.

d) Error.

ci) None of ttrese'

)

a) 3 times b) 5 times c) 6 times d) 0 times



What is the output of the following program?

int maino
{

int num[] = {!Arg,4'5'-L,3r}i;
intresult=0, i=@j
while (num[i] != -1)

return g;

)
a) 33 b) 32 c) 28 d) Nc'ne of these.

d) l trone of th,er;e.
a)0

b) 111111 c) L1.1

11

1

d)1
1

1

;i
i<<

(=5
il rt.

t

b)0

25. What is the oulput of the following program?

void mFunction(lnt a, int &b)

{
a=Li
b=2i

)

b)1

26. What is the output of the following program?

int maino
{

for(inti-1;11=
{

for. (int j = Li i
cout< < "1" ;

cout (( "\n";
)
return 0;

)
a)1

1t
111

27. Whatis the output of the following program?

int main()
t

int L=O;
for(i=0

cout <<

return 6;
)

a) 012345

int main o
{

intx=0;
mFunction(x, x);
cout << x << endl;
return 0;

)

c)2

; i++);

c)6 d) Error.
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28. What is the output of the following program?

int arnayl[] = { LZAA, 2AO, 23OO, L23O' L543 };
int arraYZfl = { L2, L4, L6, A8, 2A .l;
int temP, result = 0';

int main( )
t

for (temP = 6; temP < 4;
result *= Ett I"ElYl"[temP];

for (temP = 9; temP < 4;
result += EI'I"EY2[temP];

neturn 0;
)

temP++)

temp++)

a) 5010 b) 5s53

29. What is the output of the following program?

int maino
{

inti=4;
switch (i)
{

default: i += 5;
case 3: i -' 4; break;
case 8: break;

)
i+=5;

return 0;
)

a)4

What is the output of the follo'aring program?

int maino
t

ints=0;
while(s++ < 5)

if(s>3&&s<s)
continue;

)
return 01

012345

b)e

c) 4990

c)5

d) None of these.

d) 10

30.

)
a) b) 01234 c) 1"234 d) 1235
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